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X_fix=fix(x);
X_floor=floor(x);
X_ceil=ceil(x);
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abs(round(rem(-3.7,1.9)));
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abs(-2) =2
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angle_radian =angle_degrees*pi/180
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atan(x)
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cot(x) =1/tan(x)
sec(x) = 1/cos(x)
csc(x) =1/sin(x)

arcsec(x) =arcos(1/x) for |x|=1
arccsc(x) =arcsin(1/x) for x| =1

arccot(X) =arcos(x/\/ 1+x2)
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max x1 = max(X,);
max x2 = max(X,);
max x3 = max(X,);
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[y,,k,]1=max(X,);
[v3, k1= max(X,);
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area=0.5*sides (1) *sides (3) *sin(a2)
perimeter=sum(sides)
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sumx = sum(Xx);
prodx = prod(x),
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sumx = [7 9 7]
prodx=[8 0 - 40]
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mean _ A =mean(A);
median _ A = median(A);
mean(B) = mean(B);

median _ B = median(B);
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S=[1 2 -3 0 4]
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rand(4)

rand(n)
rand(m,n)
rand('seed',n)
rand('seed’)
randn(n)

randn(m,n)
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function r=rect(x)

% comment for help
r=zeros(size(x));
setl=find(abs(x)<= 0.5);
r(setl) =ones(size(setl));
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Function [dist,vel,accel] = motin(x)
Function error = mse(w,d)
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0 where x<0

step(x) = {

1 where otherwise
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function s=step (x)

%step the step function is
defined to be

20 when x<0 and 1 otherwise
s=zeros(size(x));
setl=find(x>=0) ;
set2=find(x<0) ;
sl=ones(size(setl));
s2=zeros (size(set2));

s=[s2 sl];
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